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Shift Y axis
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Simulated light spot

0=3.0 statistics=200000 exposure=1.20
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Changed value of exposure
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Changed value of spot size

o=3.0 statistics=100000 exposure=1.00

o=5.0 statistics=100000 exposure=1.00

o=7.0 statistics=100000 exposure=1.00
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Changed value of spot size

o=3.0 statistics=100000 exposure=1.00

hXY
hXY
- Entries 3000
— Mean -0.00146
- RMS 0.2444
— ¥2 [ ndf 3.192/6
- Constant 947 + 21.0
= 1B Mean -0.002143 £ 0.004582
- Sigma 0.2501+£ 0.0032
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Variance

o=7.0 statistics=100000 exposure=1.00
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Variation of spot size and exposure
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Microchannel test
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65cm 20,9C 38ml
Imm 65cm 17,6 C 34ml
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